X

pom 0%
(] [heorewlxa. 23* (Tnexact HSM cwvefa(ace)
A: Let the Assunptoour 3.48-3.20 be ﬁ,/{r'//(({,
and lef o from Assumpdion 3.20 be
contamed in (0,2),
St Then Hoe ector propagation operator E of the
inexact MSM safrchizs the estinale -
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where the coustunts ¢, and () are defined
in Acsuwmptions 3.19 gud 3.48, fc;rvd«'velg,

Prooit

o Lel us define
E,= (T-F) .- (2-8,) , 413 , E,= T,
Qd:lpd"Paz‘-'-' (21:“ P\,’)% " 3:.4—(_}_ )
Then we have the recurrancy
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where tlar "% means the adjm'nf wrt al)), e
a(Eyu, v) =alu By v) YuveW.
Judeed, - sa
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